
Sor- 

szám

Megnevezé

s

Összeg Ft Összeg Ft Összeg Ft Összeg Ft Összeg Ft

1 2 3 4 5 6 7

Összevont Önkormányza

ti szintű

Nagymányoki Közös 

Önkormányzati Hivatal

Nagymányoki Pitypang 

Óvoda és Bölcsöde

Nagymányoki 

Közművelődési 

Központ

01 01        

Alaptevéken

ység 

költségveté

si bevételei

490 506 274 482 524 040 130 518 6 288 546 1 563 170

02 02        

Alaptevéken

ység 

költségveté

si kiadásai

609 100 102 376 063 026 79 389 506 124 674 145 28 973 425

03 I          

Alaptevéke

nység 

költségveté

si 

egyenlege 

(=01-02)

-118 593 828 106 461 014 -79 258 988 -118 385 599 -27 410 255

04 03        

Alaptevéken

ység 

finanszírozá

si bevételei

809 419 158 583 270 685 79 451 710 118 934 921 27 761 842

05 04        

Alaptevéken

ység 

finanszírozá

si kiadásai

234 408 801 234 408 801 0 0 0

06 II         

Alaptevéke

nység 

finanszíroz

ási 

egyenlege 

(=03-04)

575 010 357 348 861 884 79 451 710 118 934 921 27 761 842

07 A)        

Alaptevéke

nység 

maradvány

a (=±I±II)

456 416 529 455 322 898 192 722 549 322 351 587
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08 05        

Vállalkozási 

tevékenysé

g 

költségveté

si bevételei

0 0 0 0

09 06        

Vállalkozási 

tevékenysé

g 

költségveté

si kiadásai

0 0 0 0 0

10 III        

Vállalkozás

i 

tevékenysé

g 

költségveté

si 

egyenlege 

(=05-06)

0 0 0 0 0

11 07        

Vállalkozási 

tevékenysé

g 

finanszírozá

si bevételei

0 0 0 0 0

12 08        

Vállalkozási 

tevékenysé

g 

finanszírozá

si kiadásai

0 0 0 0 0

13 IV        

Vállalkozás

i 

tevékenysé

g 

finanszíroz

ási 

egyenlege 

(=07-08)

0 0 0 0 0

14 B)        

Vállalkozás

i 

tevékenysé

g 

maradvány

a (=±III±IV)

0 0 0 0 0

15 C)        

Összes 

maradvány 

(=A+B)

456 416 529 455 322 898 192 722 549 322 351 587



16 D)        

Alaptevéke

nység 

kötelezetts

égvállaláss

al terhelt 

maradvány

a

0 0 0 0 0

17 E)        

Alaptevéke

nység 

szabad 

maradvány

a (=A-D)

456 416 529 455 322 898 192 722 549 322 351 587

18 F)        

Vállalkozás

i 

tevékenysé

get terhelő 

befizetési 

kötelezetts

ég (=B*0,1)

0 0 0 0 0

19 G)        

Vállalkozás

i 

tevékenysé

g 

felhasználh

ató 

maradvány

a (=B-F)

0 0 0 0 0


